ey oS L S
Hi
Ej
% FTEZER L=107.2m
il | \ _
i \ BRIOYHE - BRE
il i L=10.4m
E f;;;; \‘\ U= BT 25 81 % B300 BYavsy—r —=
‘oL [\ —
T BRI H‘\ 8300 L=1.9m
ny \\‘ | & e S B2 fRI % (B 22 F3)B300 L=3. 6m
0 ‘\H\“\ !
650 “”\‘ I
| \Hm HIH
& ol il b
i P
J !
o L
N K Usr el Z fA17%B300 EHEAERAE (EA) USFaTZAIiEB300
g “ L=83.2m B300-H300 L=8.0m L=11.0m
?“g [ I | Tl
2 T— — | ‘ ‘ | kYoo U—F - | ﬁ\ |
- | u | Ls
= i . ‘ ‘ L J ‘ T | | % Al
AAAAAAAAAAAAAAAAAAAAAAAA - | \ i | \
- [ EE — lo AN, \IC
— : | | — -l g T P L‘
] 682 %H % | “‘\
o | pMJ ; \ ! l 52 B ‘” # bR EBEE I |
. . R . g nes | | 3B 3 183 ; = eidl; 7 e e 18l - \‘ \
. |a AEEBAE 28 BBAIE o "’7'@%“% | | £ i 450%_5,';&% . M #\‘ B300-H500 . | B300-H5001}  _ o i ) Fﬁ
i’ BSOO_H 7“%7—‘77“\———-*BEOQ_H*6 0 - ﬂﬁ 6.55 @ i“183935_0§q:03_j—:\/>2661i 55 BBWI 12 Om 6.51 “ hs ‘m‘ g H | “H L:Z 0 H ‘ = Om:QL \.VP\;F)?\ I T Y O Y 14__\4#7:6774 “L7 o ﬂ
A L=2. Om L Jes L=2. Om 6.5 H WQECL_ z UM s (BB 0 —— I B SO | | I S X E%TT% ! ; —— e el " ~Teka-
gjxjw NI e | , - . | . I ) S ) S e S S A S S S M— I I ' I ‘ L L [ — == — — — — =— = — — o e ——
_— ! 1 = —— . S — —— - -—- -=q -=- - - T T T o - I
e | o =—————» 1 N
Y =i saworroe/ \ 0.3 0.3+12.00 04 0. 4+10. 00 Qo [ N7 D T iR
GMjJ N0 — — — o1 - — ’Noizhl _ —5% . - —olu: g i %P
T KiEZE . cigijfij I 6.6 e I TE 547 EPRIE *5/“/
Tl SrEPRE . . . 412 00R3 00 . NO. 4+10.00R3. 00 NO.5R3.00*1, EP(NO.57.15)R3.00 _—
e 010300 — S . - — Wt e ————— -
== = - —— — ———=—=—=—=———= —— ===~ -~ - - - - - - - - —— g, Qg e 1 : . .
pammms e L R 7 = e R e R e R =31/ o ﬂ‘L | EEamEn Rt EIEH%
KBM. 1 EEadLo2] As As I T 5hZ2 2656 T 5 R{E86S5 |
. — ‘ ‘EarLy | \ R . | :
H=6.500 (/) EERER \r \ —_ HT:%%%@%W . . ! I 655 \ o
7 TihRfggess | “ = i = H " <m E) ! 661 \ 7@> u L
713 5.0 “ 2 E 1 e 6.6 H ! : \\\\ “ <f>
% | | B h |
% it S r T i T | I |
‘ S |
T 1!
— | | |
_— = ! Y 24 J
| KFH AT
|
ErearL 229 1 ‘\ “\
T:E&/E1S3 kS
Hi
W
i
mES | 5 6 MR 1 5
B i b B
& & W MES s ETRBEHKBEHFIE
F&E
fie R $=1:250
2 REAAB Rl £ A E
SR &EAAB = F A B
KFmBHEHEDEH T EFER
*\\{% & & % & & 4%




XFhmaEMmBEDETER

Il
e $T=+_ m|m
o | E
B 2
& — |m|m
x B |1
| % |d
| %
Al cum o | 4| 4
g B~
1 in
© N il
iy 7|
b IR
| e
e 3 _“_A_H_E
WE | o fE B
|4
1=t 1=t ||
B3| B3| HESL
(=)
N <+
. ©
= .
m ©
X |l
o
. . ) . A (G1°L+G "ON)
Gl [+G ON oNo\xomo L9 HO0SL'L0L  H05kL - 43
HPZ 9  HSL9 - 000°00L {0000} H S ON
HIZ'9 HeLo - 000 '06 H 000 01 H 00 0L+ ON
H8L 9 HoL9 - 000 08 - 000 '8 H ¥ ON
HGL 9 8979 - 000 2L H 000 71 I 00 °ZI+E ON
HLL'9 8979 - 000 09 - 000 02 H € ON
& &
S —
2 =2
1 \—
— 3F
o i
o :
&l L
[101]=4
2
@
£
\
A
»
D\ =
<\°.
X\ &
HG0 9 L1979 - 000 ‘07 - 000 02 H Z°ON
H66 G 999 H 000 ‘02 H 000 02 H L ON
%
2,
)
)
@Mw
ﬁv@ J
N
2 €6°'G HE6'G HL99 H 0000 H 0000 - 0 'ON
: ——
0 'ON
[e)
- O
. LO
= .
om ©
> |l
=
8 8 8
i o S [gi] —~ 2
o = o i | e EE B :
- 2 & =
0§ -1 = Lol
& oy T | o
N ™ =
.. R
- || & 1
i me (B o o B o




1R 24 W

]

S G 0 it

kY2 U—+k

BREFR IOV
(W= - BRE)

U= AT % {81iEB300

(BB A& 42 4 7)B300-H300

S=1:50
NO. 54k
1.00
0.75 2.175 2.175 0.75
|
| s
l -
KEEDIP @100
x B BEFHETF7ROY) t=bem
LERE RIEREHRA M-30) t=10cm
TERE (BEHI99%-72 RC-30) t=15cm
NO. 1438
1.00
0.75 2.175 2.175 0.75

N
S Gf 70 it

#BER QY-+ =

U= AT & {1iEB300

(TZRESZ A F)B300 || |

BEEX L 2Y e B

E

KEEDIP ¢ 100

B (BEFHEF7RAOY) t=bcm

LERAE (PIEERERA M-30) t=10cm

TERE (BEHIyvr-72 RC-30) t=15cm

PR
S=1:10

SRR
T

300

150

= B (BEZHEF7AOY) t=bem

LRERE WEREHRE M-30) t=10cm

TERE (F\%£9799v-72 RC-30) t=15cm

180

140 40

= B (BEZHET7AOY) t=4cm

B 8 (BEY79¥v-3 RC-30) t=14cm

XEBESOHREBRRIBEETHS-H. BESAOKREFEZITORIC

HEEHOBRZTL., BRBEICAL-BEERTEIETS

tDET B,

ka2 1)—Fk

150

a>4)—k (ock=18N/mm2) t=15cm

% 6 MMA 3 5

TESyRPRGEKBEETS
R E R

N
B = A F A H
5 B = A F A H

S
&)@ | B
|

+~ [ZZ

&R OB E & AR T B R ER




() o
S S
o o
iy I
NO. 2 NO. 4 EP (NO. 5+7. 15)
GH=6. 67 GH=6. 70 GH=6. 76
FH=6. 05 FH=6. 18 FH=6. 26
B 7.00 7.00 7.00
0. 75 2.75 2.75 0.75 0. 75 2.75 2.75 0.75 2.75 0.75
| % |
| |
| |
| \
I 2 ] ' |\T%“/
\‘ I c\‘ HP ¢ 150
b=== T s % W | w= | BE| 4B I B | & B | Re| sg| uE I B | & B | RE| s uE
i E | m | 06 iR E | m | 05 . IR E | m | 05
~ —— HKEEDIP ¢ 100
KEEDIP ¢ 100 rxiT | ER Fl| m | 02 ABEDIPH100 fxtT | 2R ol om | od == fx+T | BR Fo| m | 02
BE@-D| F2 | m | 01 wmE@-n F2 | m | 0.1 R @0 F2 | m —
xRE W1 m 0.55 xRE W1 m 0.55 =2 W1 m 0.55
a4 T | EEERE W2 m 0.30 g T | LB W2 m 0.30 MR T | LERE w2 m 0.30
TRE®KiE W3 m 0.30 TRE®KiE W3 m 0.30 TRE®E W3 m 0.30
SRR | Ac | m | 1.03 SRR | Ao | m | 1.0 SERRE | Ao | m | 0.0
MET ommL Co | m — BET CoommL Co | m — MET oL Co | m | 003
DL=0. 00 DL=0. 00 DL=0. 00
()
8 S
S S
iy i
2
NO. 1 NO. 3+12. 00 T NO. 5
GH=6. 66 GH=6. 68 GH=6. 75
FH=5. 99 FH=6. 15 FH=6. 24
~ 7.00 7.00 _ 71.00
é_ 75 2.75 2.75 0.75 0. 75 2.75 2.75 0.75 20. 75 2.75 2.75 0.75
K
=
= I N I |
| | |
| | | |
| 1 | |
4‘» [ I
As I D
BE | B | ME I B | & B | Re| 8g| uE I B | & B | Re| s uE
E | m2 | 06 iR E | m | 06 X IR E | m | 06
~ —— KEEDIP ¢ 100
KEEDIP$100 hEt+T | BE F1 | m | 02 KEEDIP 6100 hEt+T | EBE Fl | m | o1 BEDIPS x+T | BE Fl | m2 | 02
BE@-N F2 | m | 0.1 BE @0 F2 | m | 01 B -0 F2 | m -
=W W | m | 055 = W | m | 055 P W | m | 0655
$ % T | BB W2 | m | 030 %% T | rEEE W2 | m | 030 %% T | rEBEE W2 | m | 030
TRER W | m | 030 TRER W | m | 030 TSR W | m | 030
SRR | Ac | m | 1.02 SRR | Ac | m | 1.07 SRR | Ac | m | 092
MET o mmL Co | m — MET ommL Co | m — MET oL Co | m | 003
DL=0. 00 DL=0. 00 DL=0. 00
() o
8 S
S o
& & g
S
o
NO.O NO. 3 T NO. 4+10. 00
GH=6. 67 GH=6. 68 GH=6. 73
FH=5. 93 FH=6. 11 FH=6. 21
B 7.00 7.00 B 7.00
-55.75 2.75 | 2.75 0.75 20.75 2.75 | 2.75 0.75 =0. 75 2.75 | 2.75 0.75
g | % I | EREBR
| | |
T \ \ ‘
: | | |
= As As 74’ I I
] []
T i % W | =8 | BE| uE I B | & B | R s5g| uE I B | & B |Re|sn]| us
i E | m | 06 | (.3 i E | m | 06 KIE E | m | 06
e " s
HKBEEDIP ¢ 100 ewsr [EE T T o2 o HKEEDIP ¢ 100 PO Y JKBEDIP ¢ 100 paix | ER .
BRE@I-N F2 | m | 0.1 mE@-N F2 | m | o1 BRE@I-D F2 | m | 01
xRE W1 m 0.55 xRE W1 m 0.55 =2 W1 m 0.55
% T | rEBE W | m | 030 %% T | rEEE W | m | 030 %% T | rEBmE W2 | m | 030
TRER W | m | 030 TRER W | m | 030 TSR W | m | 030
SRR | Ac | m | 1.02 SRR | Ac | m | 1.06 SRR | Ao | m | 1.00
MET o mmL Co | m2 - AT ommL Co | m2 - AT ommL Co | m -
XORBETREEEKMO L ITHE
DL=0. 00 DL=0. 00 DL=0. 00

HmEm&FES|F 6 MA 4 B

HES s ERRBRHEKBRERBIS
X ®m & #

W m X
fia R 1:100
@ @& A A & F A A
5 ®& A A & F A A
KFmA T Efm AT Z E R




U= rI Z{8;%B300

(B300-H300) $=1:20

U= rI ZE ;& B300

(B300-H400~600) s=1:20

B B AlE EER)

(FSC-B300-H300)  s=1:20

B B A)ECAE (BFRER)

(B300-H500)

S=1:20

420
AV )—FE
/ B300 ARy MT, L500
2 L
§ § 300
o 5 BELZIL
Sl L0 1:3
EHRA
50 420 Lc RG-40
520
¥ E % (10m% 1Y)
4 1 iR 1% =R v # =
UFaIZE & B300-H300-L2000 & 5.0
BEILZIL 1:3 m3 0.126
EHRBRA RC-40 t=10cm | m2 5. 200
avoy—trg | PORZIYET 20.0

420
800 5o py—pxz
) B300F Ry MT, LS00
AN—Fravy)—+k
= o© o ck=18N/mm2
A\
X777
o e BELZL
S w 1:3
EBERG
50 420 Lc RG-40
520
STERRUMEE
+ % M (10mLy)
UFalZfliE | BELZIL HERA WHY-+E AU =bavhy-
B C H Fit B300FAYY M
B300-H-L2000 1:3 RC-40 (t=10cm) L500 8 ck=18N/mm2
(mm) (mm) (mm) (&) (m3) (m2) " (m3)

B300-H400 400 570 90 5.0 0.126 5.200 20.0 0.270
B300-H500 500 675 110 5.0 0.126 5.200 20.0 0. 330
B300-H600 600 715 130 5.0 0.126 5.200 20.0 0.390

520
300
JL—F 5 &E(1-25)
/ B300A, L500
| A=ty )—+
I 8 \ R IV o ck=18N/mm2
BEN RBEDLHY— b
] X Z o ck=18N/mm2
S |
O,J_—
S LU N
HIERR
RC-40
5 | 620 ‘ (
720
B E % (10m&Y)
4 1 i % Bfr # £
BHEAERE |[#EErA - B300-H300, {& 5.0
HEEa o )—Fk|  ock=18N/mm2 m3 0. 620
HBEHR LR m2 2. 000
EBrRA RC-40 t=10cm m2 7.200
R T—25L5803000FH % 10.0
1" =bavhy- o ck=18N/mm2 m3 0. 150

500
300
\ [ )/
- \ (
3 8 | || 4vn—ravsy—+t
I | ¥ o ck=18N/mm2
| .‘Ei\ ! HEfga o )—+
_ X o ck=18N/mm2
= 000 )
(l L ERRA
5 600 g R0
700
H 8 X (15m%yY)
& B B B
EfER[l B300-H500 & 10.0
H#EaLsy—k|  ock=18N/m2 | m3 0. 450
AR B UER m2 1.500
ERBAR RC-40 t=10cm | m2 10. 500
AU =p3v Y=} o ck=18N/mm2 | m3 0.315

ME&ES|S$ 6 WA 5 5
EE L EDRGHEKBEET
- THEB Y ‘ % BTIE
BER (1)

fia R R

W EE A A % 70 F A A
EXE A H < F A =]

K F AR TH B iE &R &R Th 2 i R




JERAE Sk BERIJOvY

(B300-H500~700) s=1:20 (B600-L600-H900) s=1:20 (BEE) $=1:10
900 900
a9 )—F+E JL—F 5% (T-25) a9 )—F+E JL—F 5% (T-25) aVvHyy—+E
B300FAYy M, L500 B300A, L500 B300FAYY M, L500 B300A, L500 B300FAAYy M+, L500 150 600 150 150 600 150 Q
1 JL—F 0% BERIOvY
o L ZJJJ_F 5 Il”””””””“ lllllllllllll| T-2(110° BARAL) (BREZ B FI A
- w f 57
) 300 . s . . & L \HY?\-\S\?HHHH\ 1]
A2N—Fravy )=k AvnR—ravsy—+ A nN—tavsy—+ <5290"3%z —————
T o ck=18N/mm2 = o Ck=T8N/mm2 o Ck=T8N/mm2 2 %, SL—F 58 , - |
o o o~ 1:3
\ME - N\ : —_— Jgs ||l || | s g A
o ( BELSL o BELSL | - U T 2 % Z S | 1| |w5.93 : SEnE
=N 1:3 =I5 1:3 o | | . i — -
Y ARG ARG 8| 8 s o 3 ‘
A] & 18l - - > © (S o~
¥ | 0 a0 kg Ro-40 RC-40 i S 220
500 1000 500 2
520 | | | -
2000 2 N 2 %
- EBRRE
Sle RC-40
o p=1111}
L 5 900 5
CO)'I <
°\ 1000
BBEE TERRUMHE w8 = (IEFRHY) & % (10m%y)
& ME (10mHY) & 5 550] % Bifyg # = 4 7 b2 % ==X va 0 =
- UF a2 {85% BEILZIL ERRA h-+E PUFur & | Aoy -bavhy-t B # avyy—p o ck=18N/mm2 m3 0. 448 ERJOvy BR = B F| B & 16.7
B O#% C H Tt B300RIAYY M T T-25 B300M }
B300-H-L2000 6 ck=18N/mm2 | RC-40 (t=10cm) L500 L500 6 ck=18N/mm2 INEY B g N n2 6. 300 WELAIL 1:3 3 0. 034
m__|_(m)_|_ () &) m3) n2) #® ® (m3) n2) EH@®E | RC-40 t=15em | m2 1,000 EHBE | RC-40 t=10cm | m2 2.200
12 B BaE 700 880 240 5.0 0.126 5.2 10.0 10.0 0. 360 0. 720 P L—Fu5E | 12 110° EE= | %@ 10
25 EBAIE 600 775 180 5.0 0.126 5.2 10.0 10.0 0. 270 0. 540
3EEAREE 600 775 220 5.0 0. 126 5.2 10.0 10.0 0. 330 0. 660
45 EBAIE 500 675 160 5.0 0.126 5.2 10.0 10.0 0. 240 0. 480
5EEBEE 500 675 210 5.0 0.126 5.2 10.0 10.0 0.315 0. 630
65 B EEIE 500 675 210 5.0 0.126 5.2 10.0 10.0 0.315 0. 630

hitpar v 1)—+
(BREREE O 150 EEs) s=1:10

5 1 22

REESHIVYY-b

L E X (1&#m&HY)
£ b iR % B4 # =
avoy—k o ck=18N/mm2 m3 0.1

ME&ES|S$ 6 WA 6 5
& L2 msaa»ngm%mwx%%@:%
BER (2)
fia R R
W EE A A % 70 F A A
EXE A H < F A =]
K F AR TH B iE &R &R Th 2 i R




HEK IS R
(%) ]

o o L
0 \ L 2 i N 5 % e
© @( \%%*%"ifg \\%( © \\%( © \\%( ©
20
8
107.7
U=F =] Z {81;%B300
Skt B H 5B & U=F AT Z {81;8B300 BHHSEAE U=F AT Z {81;8B300
B600-L600-H900
1.90 3. 60 . 20 6.00 5. 85 0.15 17. 85 0.15 17. 85 0.15 9.85 8.00 0.15 6.00 1.85 6.15 3.85 0.15 5.00
2.00 2.00 2.00 2.00 2.00 2.00
1.80.1.80
v 6|59 Y 6@46 b vV 6.52 VvV 6.60 v MOV 6. 62 v 6.63 'V 6.64 Vv 6.66
vV 6.58 o v 6.59 v 6.5 v 6 54 V 6.55 vV 6.56 vV 6.56 vV 6.57 Vv 6.58
Wle.sa f|==~_ A e e I S PO | N | IS —
NV Vv 6.23 v 6 24 Vv 6.24 Vv _6.26
VvV 6.06 v 618 v 618 V 6.20 V 6.2 — —~
5. v 6.11 v 6.12 V615 — S—
4 & Vv 595 o 5 00 v 600 v 6.05 v 6.06 0.3% 7
v 5.93] | v 5.96. YV 5.98 ' — W 100000
— 0
“
000000
4 00000
O % ~ - © =
— N — N
7} 77} Ty ®| mo F|= ©|w© ~||c | —llo S|« ©ollc ©|wo =3 —|lc o 0 Ty = o
e e D R B —I° el | P | F M | P < —L S 2 < N
7T T OTTTTT TIT Tl= TIT TI= TIT Tle TIT T TlI= 7 TT T TT
+ + + el B oA el Fa) i} Pllo Ble L= Bl H|— B + H|— 2 FA ] + s
= = = =
DL=5. 00 L T T T
1.90(1.80{1.80 2.00 6.00 5. 85 2.00 17. 85 2.00 17. 85 2.00 9.85 8.00 2.00 6.00 1.85 6.15 3.85 2.00 5.00
. 2( 0.115 0.115 0.115 0.715 0.715
U= & Z5 48158 B300 | U= al 2 {81 35B300 Uz w2 {8 3B300 B300-H500 L=18. Om Uz w2 {8 3B300 B300-H500 L=18. Om Uz w1 2 {813B300 B300-H400 L=18.Om U AT ZE 480348300 | B eR B ERfBISE (I )
B300-H600 L=6. Om B300-H500 B300-H300 L=6.0m B300-H300 L=8. 0Om
U=F AT Z {81;8B300 15iEBEIE L=6. Om 25 REAE SEEEAE 45 EBEE SEIEEAE U=F AT Z {81;8B300 U=F =] Z{81i%B300
B300-H600 L=1.9m B300-H700 B300-H600 B300-H600 B300-H500 B300-H500 B300-H300 L=4.0m B300-H300 L=5. Om
HHEAERAE BEA) U=F AT Z {81;8B300 65 BB AIE
B300-H500 L=3. 6m B300-H600 L=1.2m B300-H500

XORBELEBABDA VN—FE

Z %K

HE&ES % I M A [

B2 M| mger R kEEBTS

® R 2

#®E A A S £ A B

SR %A A 5 F A E]
KFhER T B E AT ERR




